
Box-and-Whisker Plots
12.3

1



Box-and-Whisker Plot
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A box-and-whisker plot displays a data set along a 

number line using medians. 

• Quartiles divide the data set into four equal parts.

• The median (2nd quartile) divides the data set into two 

halves.

• The median of the lower half is the 1st quartile.

• The median of the upper half is the 3rd quartile.

The five numbers that make up the box-and-whisker plot are 

called the five number summary of the data set.
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Range: 300 – 160 = 140.  This means that the song lengths vary by no 

more than 140 seconds.

• 25% of the song lengths are between 160 and 220 seconds.

• 50% of the song lengths are between 220 and 280 seconds.

• 25% of the song lengths are between 280 and 300 seconds.

Interquartile Range: 280 – 220 = 60.  This means that the middle half 

of song lengths vary by no more than 60 seconds.
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Range: 12 years.  This means that ages vary by no more than 12 

years.  Interquartile Range: 6 years.  This means that the middle 

half of the ages vary by no more than 6 years.

25% of the players are between 18 and 23 years old.  50% of 

the players are between 23 and 29 years old.  25% of the 

players are between 29 and 30 years old.
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For your class the distribution is skewed left.

For your friend’s class the distribution is symmetric.

Because the box in your friend’s class is longer than your 

class, the interquartile range is greater which means the 

test scores in your friend’s class is more spread out.
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For both shops, the right whisker is longer than the left whisker 

and most of the data are on the left side of the display.  So, both 

distributions are skewed right.  The range of the prices of Shop A 

is greater than the range of Shop B.  Also, because the box of 

Shop A is longer than the box for Shop B, the interquartile range 

is also greater.  So, the prices of Shop A are more spread out than 

the prices of Shop B.


